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13 kbar ESR

2 CA NaHSO3 K2CO3 DMF

H2 PPh4Br PPh4 DDQ

PPh42 CV

E1 = -0.53 V (1), -0.34 V (2) vs. SCE in PhCN CA 0.35 V, 

0.16 V TMTSF ET
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2. PPh42 (R = 0.070) 

2 face-to-face 

dimer

3.489 Å Cl···Cl van der Waals

0.11 Å

 

3. (TTF)(2) (R = 0.068) 

TTF 2

154.5°

3.449 Å 3.714 Å Cl···Cl van der Waals 0.15 Å

4. (TMTSF)(2)·0.5PhCl (R = 0.066) 

TMTSF face-to-face dimer (3.460 Å) (3.467 

Å) 1 (TMTSF 2 3.553 Å)  

5. (ET)(2)2 (R = 0.069) 

C2/m 1/4

3.843 Å

ET  

6. '''-(ET)3(2)2 (R = 0.073) 

3 3 2

1

'''- 4

RT = 0.083 ·cm, Ea = 0.032 eV

5 ET 6

1 Curie Spin C = 0.087 emu·K/mol,  = -8.5 K, aT-independent = 4.2  

10-4 emu/mol  
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